TS PHA0T Aehfaer A RAeafof@a &
O ohE FHATe gaRT A® fohar argr ar?

A. TAELT TF IRAR FHedToT FHAT

B. §Tel Tad 9RaR faera #arerr

C. ¢ HATT

D. ImHA0T Ahr HITTT

E. 9Ot TaT HATST

fr # & forg gffcy 36T &1 d@s &t
JATNS qEHR, 2018 & FoFAAT fehar
g2

A. TR SaTS B. 31fAdma gy
C. 3Rfdg fzam D. 3184 T
E. G $TRearst

HRET Har HW  (IMF) HT RAE &
ITER, AR & Iegaedr & 2019 H
fohctel gfaRIc Sea &1 AT 872

A. 7.5% B. 7.4%
C. 7.3% D. 7.1%
E.7.2%

@ (TRIMs) & 'M' 379 g2
A. Measures B. Management

C. Million D. Money
E. Market

FlT O ARAT el T "ta=a 3R gRa
qRffaRor # e AU Fere S & T
gRa oifgetoT (NGT) & ISO YA (ISO-
14001) 9Tl dTell AR Ie9d &l Ugell Jeld
T & AT 87

A. INER Teld T (3R TS2U)

B. 8GR YoId T (HLT Uc )

C. IETEIET Yerd T (376H)

D. RIUTET Yeld T (3ccX TG2n)

E. 5781 & hIg el

FEA' Aol HAEfafea & @ e a7 @
gafaa g2

A. 9gsT FolT B. Ok Fam
C. frarer far D. dferer goumelr
E. fRrer

10.

11.

1063 HRA 37T HId-2019 HEHRIOT &1
v Fr g2

A. Science and Technology for
Indigenous Development in India
B. Science for shaping the future of
India

C. Planet Earth

D. Future India - Science and
Technology

E. Reaching the unreached through
science and technology

Tfef@a & @ sladar af@afa 2022d%
fShETEAT T 3T T ST et & lieh FATe
& foIU g THR canT aIfdsa Hr a1 g ?

A. 3Rfde gaefear afafa

B. 37M&h Golas AT

C. fAar wia afAafa

D. fSsie ¢axrar afAfa

E. 3781 & 1S w7g!

AT 2019 #, g d& 3R ARG WHER o
P %A & fov $250 fAfemsT w1 For
qASAT fohar?

A. TA.ARSYLST. (TSET ATHOT ISR
IRET HIAHA)

B. UA.IR.UA.UH. (TSET ATHIUT FAELY
THereT)

C. JTSHN.UH. (Thichd STeT fashrey )
D. T . AR.SELU. (Irsery areior 3nfds
aRadeT aRATST=)

E. Ta.ua.v. (Ta e i)

ERIS 1Y v Usg # a2

A. SIRES B. Bcdi g
C. 3nfsem D. gfRad Famer
E. ellcsh

'STeelishee’ AHAIR R fhd 0RAT T &
YieTel ARG & Ueh AT & §9 H TdTeld g?
A. I B. 3¢ yc2r

C. dfferarg D. AR

E. 3/@H
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12.

13.

14.

15.

16.

At & @ @l @1 ToF qur # Wer i
T A (AT FEon) 7 Y o g2

A. 9SS B. 3@H
C. gRamom D. feeolr
E. #ERISC

fecd (TRIPS) saeq & 3T & 3Hddd a=N &l
Tgt feed &1 Ade §-

A. ¢35 Relcs s=a¥cae Wiudt use (Trade
related investment property Rights)

B. ¢ Reics weuac 3% Sra<cac Hidct
{1se (Trade related Aspect of

investment property Rights)
C. g3 Reles vedee 3% gredagdd Hiuch

{1se (Trade related aspect of
Intellectual Property rights)

D. ¢35 Relds TEIFE 301t Secolagdd Hiet
f&Te# (Trade related aspect of
Intellectual Property system)

E. 3R & & H1$ At

AR o 0 A @ ThE ol gl &I ol
AaTger @ adieror fohar St e stedh 3
AN &THAT Wl 8?2

A. 3T VI B. e
C. THgIH D. SR
E. oy

frfaf@a # & o a8t a8 #vg gfayoh
Hglcad 2019 & A= Hr?

A. arfaifeier B. SelehTdl
C. 9eH D. Jargrer
E. 38 & 1S gl

Folald AR HI 2019 & AT ORI JeA
HYUT QSR W FFATAA fhar Il 3e6
faf@a # @ g &3 # 39 &9 &
faferse @ar & fow geafaa fhar ar?

A. frer B. fhe#

C. faamer D. 9FRIRAT

E. 3frwer

17.

18.

19.

20.

21.

fhE T o 'Sihpe’ @ TsT HT ITTRNS
Hol T foar § 2

A. 9f¥agd Il B. 3ol
C. Fdlcsh D. 3e 9eer
E. 318 & HIg o1gl

R ol 3ol W g Tg § o & fow
HleT T Y T AR HI Igoll T T &1

el IRAT 82

A. feeelr B. {1
C. SigTeda D. gga’r
E. T8 & 1S el

ArALas. (usiierdl #Hed gashih) & faw
IS Th AU AT &1 HRA #, IuNFAT TR
W ARG B @URd = & for =)
ALAL3NE. o w1 39N R Srar g
SoIH | i TET e &2

A. Hrdr3S.-3S seey, (eI wmetar),
B. W.ULAS.-T.U. (FIY o=l

C. I1.91.37M8.-3R.TeT. (ATHUT FHaaRT)

D. #.91.38.-UH.TA. (FaT HaaR)

E. 508 & &5

ST fesgetel BR ol 3% & @
(3mEdTensity) & fov Aeafafaa & a g
Ugell R Ao T Il a7 §?

A. 350 ST B. fafaar amelr

C. =% =ser D. fRrET Ir#esoT

E. g8 & &I e

e U T yeal & 3 & & v ug
e FT TEa of|
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21,

22.

23.

3WFT 9$ g€ a¥ 2015 & a9 - A, B, C,
D 3R E i FIdear & cidr §, STE,
mfrwi?’r@rgmam’w=18000

3RS 95 IC ay 2015 H g&faq mar &
JRfEATT i SAEEIr  cATar §, @,
ff@at fr For wear = waft amat A Fer
FAHEAT FT 40%

dle: IMT T Feol FATEIT = FERT T TEAT
+ foReRt i Fwar

ay 2017 #, aad C Fr JIHEIT a¥ 2015 &
AT & T @, Afhed FIERT 1 TEar X
¥ 931 UROUTATTET HIGRT I Hol FEA
et i goar &7 70% 3w g s X
T AT FIT 87

A. 620 B. 440
C. 680 D. 485
E. 430

g D 3R E & foReRT &1 &I & & &1
IR Ma D 3R E & TR & &S 3T &1
T fohcer gfaera 87

A. 30 B. 20
s S D _1&
E. 95

ag D #, FReRt & &g gest @ At &
3dTd AT 5:3 81 &Rt A @, I X'
Afgemn? 3R "1.25 X" &N hae & & H
FH PI & | A haT & T H A Aal
A &, g IR A3t & < e
HALM: 5:2 &, ar 'X' T AT FIT g7

A. 240 B. 300
C. 360 D. 380
E. 280

24,

25,

26.

27.

I# D, F 3R G & sfafaar & 3itaa g
19108 shaer: Mg F 3R G &I JAaEar &1
40% 3R 30% HfRfard &1 afg aia F 3R G
Y SIAHEIT I AT HA: 4:58, dl Ial
F 3R G 1 Th-T1Y Fol SIAAEAT F7 872

A. 10000 B. 12256
C. 12456 D. 13000
E. 14000

Mg A #, afe qest IR AfRen3i Hr dear &
S @A 3T 17:13 § 3R g A 7
1000 3RIfeTT g €, a a1 A 7 @mer qest
I TEAT AT &7

A. 480 B. 540
C. 940 D. 1040
E. 1140

U dod & A 3R dHYSS T &G
SHAT: 1232 e #HieX AR 704 91 HAeX Bl
Solel & FFYOT S T &ABel Al H (T

HeR)?
A. 429 B. 521
C. 629 D. 721
E. 781

X T AT AT HL-

FYeT I: Th IFd & 2400 I HT GRIRT
IroTar A 3R ST B H AU 5: x &
3T # fAaRr | AT A 8% arideh
SITST T &YX ¥ FYUROT &A1 AR IISteTl B,
3(x+1)%ar¥& AT HT &3 F FTRT
SATST YeTel il g1 2 ay §1g Arelelr AW
ST SIS & ay 91 Arelar B ¥ Aoid
ST ¥ 24 79 3R B

FY II: U IfFd @ 2400 93 &Y
YARIT AIStal A AR AT B H A 5: 3
& eI H fARr Hr| AT A 8% iR
ST H X H YUROT A7 AR Asfer
B,3(x+1)% arf¥e sareT T a7 { ATYROT
ST el HLdl gl 9 av §Ig Irslelr AW
3foa s (x+7) a¥ 91€ AT B &
ST saTe & W &
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28.

A. g FUF T H & 75 TTTPRT kel T2
FI 3cR o7 & foT gATeg §, STafd Hua 11
H & 7S SAHAPRY 3hel TRA HT 3cck &oF &
foT gafca a8t §

B. afg &Y 11 HF & 15 FTThRT 3Tehel T2t
HT 3R &ol & ToIv gTed §, STafh e I
H & 7S PR 3rhel TRA HT 3cck &of &
foT gafca a8t B

C.afg ar ar sy I & & 7 FeTri) a1
FUA I H & 15 ATHARRT kol TRaA I
IcR & F T gaeq B

D. Ifg & I 3N e 11 et & & a7
STAPRI AT H YR T 3l ol o oIl
3TaTF gl

E. afe e I 31k FueT 11 =t & & 718
STARRT o AT H A FT ek Sl & foIT
e 8 B

A&er: s fr a0 y3e uee H ud U
AT 3T A af FUT & 3R 11 feu st
g1 3TIT Tg TT T g foh el H 3Uclsy
FEMET IAT 3T U2 &l ek Gol o foll
gATed § IT AT | Gleil edl I TG AT Fccd
&

QU Th ST A oRcAalT FHT oaem?

HUT 1: 2 oTcil I Tl el H 8 T¢ 9T
gl

FYT 2: Th el cohl HI 20 ¢ H Trall
gehdl &l

A. Ifg ST 1 # & I8 ARRT 3ehel TR
FI 3cR ol & foIT 9T §, ST HYUA 2
H &y I8 ATTRRT 3iehel T%T P 3k &ol D
forw gafea 18T gl

B. afg T 2 & & I8 STTHRT 3chel T
FT 3ccR &t F T waTeq g, Siefe ST 1
H & I SAAPNT 3Tohel I HT 3ccdk of &
forT gafeq =18 g

29.

C.afg ar at ual 1 # & 715 TRy AT
FUT 2 H & IS FATARRT 3Tkl T I
3R ¢t & forw gaied #1

D. I el 1 3R Fued 2 et F & a1
SATTHRT TT T 3ccR ol & folw g &
TITSF B

E. afe T 1 3R a2 gt & & 718
STADRT IR T 3cck Gol o TolT gIATST
el Bl

farder: e QU 1T weaT & A1 Fo wYA v
AT &1 IR T dT HlT g foh Pled qv/A
HUeT YR T 30X Gel o [T gITTA/3TaTH
/el

R I FoATT 3 AT Y|

Y [1 JHAVR I Y I&TT TAT TRAA T
3g @I T & TUr YR S Y 4
|Iel Jgel 3T TaI &I I & AN
14 a¥ &#F gl 9 ¥ 378TT Sl dIHTT
3Y &I Ul A 7:4 §

FYe 1137870 I Y YA T Y & 31
T 2 9y 3tk g1 GRIT T MY 3T aur
3ifeden &I g Y & AT § 10 a¥
FA &1 FfAYS, ged & 6 ¥ BT gl

A. I 3ot FuT 1 H T I™T ST 9
FI 3ccR o & foT gATeg §, STafdh 3mher
FUT II # f&IT a7 3e7 9T T 3cc} ot
% foT gaicq =gt &

B. Ifg 3thel YT 11 & feam am=m 3er et
FI 3ccR ol & foIT AT §, STafh 31hol
FUA [ F f&Tr 37 32T 9T HT 3cck &l &
fore wafe w1t &

C. afg ar ar &y« 131 YT 11 7 fear
IAT SCT Th-TTT U Hl 3ccR f o fow
3ETH &

D. IfE et syar I3 11 & fear am=m 3er
Th-ATYT T2 F 3cck Gol o [olT ETS &
E. afe gt o=t 13 11 & ar a=m e
TH-TTYT T2 FT ek &of & forw gafea #1g7
3


http://www.gradeup.com/
https://www.google.com/url?q=https://xu75j.app.goo.gl/QUsj&sa=D&source=hangouts&ust=1559118408132000&usg=AFQjCNGzCrfNqCSPGecpN0wB03uOf4dQKw

30.

31.

e MY Ru 90 yA% wed &F v U
3R e wya T 131K 11w arw &1 3maepr
Ig AU o § [ FUT # 3ucleyr Farar
IAT 3T YA T 3 &of & [l gATead § a7
g Y A 9 3R 3W S

A &1 mifde 3 T4 g2

I. A fr a1f@® 319, B 1 Afds 31 &
2500 & & gl

I1. B &1 #A1fAe 3 3R C Fr A1fas 33
T 3T 2:1%]

A. TE 3ot HYUT I H AT 13T 3T WA
FT 39T &F & fov gaTeq §, Fafeh 31
FUT II H far a1 ar 3er 9 FT 39T &F &
faT ged g &1

B. Ife 3rhel YA 11 & AT I13T 3T U
FT 3W ST F AU gATeT §, ST 3rhor
U I # T 1 3T YA HI 3R ol b
forT uafca wgr &1

C. I 37hel YU [ AT 3ehel HUA I H
fear /T 3eT U FT 3T &of & T g
gl

D. If¢ gt &y« [ 3R II & a7 3= 8er
e &1 3R & & o0 YIS gl ol

E. afg =t Fuai I 3R I & féar arar ser
Uh-ATY YT &HI 3 ol o [T HTGTh gl
@& Gar = 9Re ar FYAT AHG: AET
1YT AET 2 A &6 915 STefehl I 37TE%0T
AT gl TP 9T & 1T SATABRT I
YA FHLAT R AT AT 1 3R AR 2
ool A F oIl el & dG I
3c} ¢l

AET 1: X FT AT AT HL

(6x2+ 17) - (3x2+20) =0

AT 2: y F AT AT B
(5y2-12) - (9y2-16) =0
A.AET 1 > AMET2

B. AMT 1 = AT 2

32.

33.

34.

85"

C.HET 1 < HMET 2

D. AET 1 = AT 2

E. If¢ AT 1 = AFT 2 1 G99 T&amia
el fohar ST @hdr

farder: Rrafaf@a weat # ar gefeor "x" 3k
"y" I g AT § AR AT Ik o Bl
I.5x>+44x +32 =0

II.9y2 + 74y + 77 = 0

A. x>y B.x>y
CHE= D.x<y

E. x = y I1T GFaey TAMUT gl fohdr ST

HhelT §

fder: Ffaf@a e & o gEeRor & a8
g o FHROT @ g ST JUr IR
AL EF

AT 1:16x2 + 28X + 12 = 0

AT I1:6y2 + 32y +42 =0

A. &1 I > AT 1T

B.&AmET I = & 11

C. AT 1 <A 11

D. &1 I < &6T 1T

E. AT [ =AM 11 a1 oaey T o6l

fhaT ST FehaT &

forer: Qi aRATOT &Y AT F oAkl Jefell
FId g efaf@d 9eat # g PG
gf#ATeT 1: 3X2 - 54X - (27)2=0

qf¥#ATeT 2: 4X2 - 450X + 8100 = 0

A. 9R&ATeT 1 > gR#ATT 2

B. gR&AT0T 1 > gR&AT0T 2

C. gR&ATT 1 < gR&ATT 2

D. gR&ATT 1 < gR&ATT 2

E. 9RATT 1 = IRATUT 2 IT FIg e AT
fder (35-49):Frafaf@d dear J@ar &
gesTardsh st (?) & TI W FAT 37T

aifgu?

520, 268, 142, ?, 47.5, 31.75
A. 81 B. 79

C. 83 D. 81.25

E. 318 & #I$ ¢
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36.

37.

38.

39.

40.

520, 268, 142, ?, 47.5, 31.75

A. 81 B. 79
C. 83 D. 81.25
E. 318 ¥ HIg oTaf
4,1.5,1.75, ?, 8.5, 35.5
A. 3.25 B. 2.50
C. 2.25 D.3

E. 3 & HIg =gl

0, 10, 34, 78, 148, ?

A. 250 B. 248
C. 200 D. 190
E. 31 & HIg =gl

fer, Afea & Qe S 3R Afea,
ANfe & ST HRIHA &1 Iie I Tl vah Ty
HTH A & 3R 20 ot & & g ¢ ar
AT HY b Afga 3R MfHT Trer T vaa
feat 3 1T qU FX " 82

- B. e
3 3
o D. 2 Re
3 3
E.Z2
3

P, Q 3R R o sheAer 900 ¥4, 1300 I
31 2000 39 &7 AAU e Teh IAIE™
U fHAT| 2 el STg 3ogied 3:1:5 e FeqdTel
H T 3T Y F1 A9er Far 1 3% are
F &g P, Q 3R R a %AW 200 T4, 400
F9Y 3 1000 39T gaa@ g & A o)
3 HIHT AT YW H 4 Wl F @
HaHT § oI o1 4:5:a & eI A &
3R ey 7 P T BFEAT 1200 FU §| cgaE@T
T TSI Fol WM AT A

A. 4100 ¥ B. 5100 &9

C. 4800 ¥4 D. 5400 ¥4

E. 5981 & I et

& (41-45): PAeff@a el &t
EIAYEH TET 3R IHFERUT HA drel el
& I A

Tk 9RGR # 8 @e¥T A, B, C, D, E, F, G
3R H &I 35T el @A i@ 3R g @
A fpeT RAfdieer aut 1978, 1996, 1949,

41.

42.

43.

44,

45,

46.

1993, 1954, 1989, 1972, 1982 # 31T
Afthet SR o161 foh g4l e & @11 @l 3y
01T 01 JeTS 2018 & Heer H HT 912 8|
A FI] I3 GGET gl o HeEdl & SeH A
3R B & T & g3 ATl E T Sfed B a1
ﬁa—é’rwm%aﬁﬁgmml H, C &#r
3 & e & 299 931 g1 H 3R Fah o
H T FeEdl F1 S g3 A1l D H A
G & dgel 31 Tl

IRAR H dERT 8T AfFd Fiel g2
A. H B. B
C.D D. E

E. 38 ¥ HIg o1ar

ST § Hiel Eq Ol & dfhel C A 37 872
G

I1. 1993ﬁt\a§3ﬂa1%cr

II1. 9g =afdd it 2 9 a¥ & gl

A. Fad | B. gt I a2 11
C.er Idar III  D. &=t II q2r II
E. @efr I, II a2 III

fhcel <afed E @ 93 &7
A. 6 B.7
C.9 D. 2

E. a8 ¥ 5 Tgr
1954ﬁ%€$raﬂ=r§waw

A. F B. A
Cy D D.C

E. 38 ¥ HIg oigl
IRAR & I BICT TEET Hid 87

A.B B. A
C.D D.C

E. 39# & #Ig o8

e A U v weat A ¥y F A
YA AR 3aF a1g o ey 1Ak I few
AT FI3MTR BT T QAT FUAT P T
AT &, 8ol &7 § gaaTd a2t & @ gdia
gia gf|gsft Ssef & gfer 3k e o
FRC F &I s Fila a1 Py ffr v
YA HT ATfeheh T A HTEROT HT &, o7l
8§ A 9T Fo 97 g
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47.

48.

HYo:

ashr IR, 7@ g1

o 99, @l g

o el doh Bl

fas:

I $o dR, d5h £l

11 & e, & &

A. I ST 1 3eTaRoT Y B

B. shael forsehy 1 37TET0T el ¢l

C.ar a foshy 137 11 3778307 FXaT ol
D. & @l I 3R & & Ty 11 37e8Ror
gl

E. &l fashy I 3R 1T 3efeRor el & |
fder: S Ru a0 oot 7 @ 93F A d=
YA 3R 3FF are @ Ay AR I few
AT IR U AT Al HAUA H HA
AT &, e & I Fdad a2t § et gdia
ga gf|gsly Asesf & gfew ik A o
R & Rz = =l a1 @Fsey ffw aw
YA T lfeheh FT & FEROT HIAT &, el
& Faa a2F g ol gl

HYol:

el 3, A B

a8l a9, el §

T Fel, AT &

s

I. & el, 3R 8l

II. & R, 89 gl

A. Shael fasHy T 3eT8RoT &L g

B. %hdel forsend IT 3eTET0T Tl Bl

C.ar a faswd 11 11 318307 Tl gl
D.a @ I3R o & fshy II 3efeRor el
gl

E. 2t forsend I 31K 11 378307 el ¢ |
fader: ST RGu a0 el & & v@F A I
FYT 3R 3FF are ar fAshy 1 AR 11 Row
AT RIITR U AT Al HYUA B HA
AT &, T § I FAAT aedl § ieet el

49,

g gf|gsly fasesf &+ gfer ik A oo
e & fear mar #ia @ ey e oo
A HT Alfheh T § HTEROT AT g, e
& Faa avg g o gl

HYe.

75 g e ¢

T T, TS ¢

Tl wefsan, Afear €

s

L. o e, 9§l

II. $& AT, ¥Iqu &l

A. Fa IS [ T80T T ¢

B. &acl folsay 11 31eTeR0T & &

C.ar d forsay 137 II 3TaYor &Y ¢
D. & @ I 3R & & f¥seny 11 378Ror ke
g |

E. gl fasehy I 3R 1T 3efeRoT e § |
@& e RT a1 geat A @ g&s # A
U IR 3HEF are aF faswy 3R 11 few
AT BIIEH U AT Al HUA B HA
AT &, 8ol &7 @ FaaTd a2l & ffea gdia
ga gf|agsy fasesf & gfer 3k A o
SIord fo fear arm i a@r sy fqr arw
YA T dAlfcheh T § ITEOT AT &, A
AIEEIGEGER I T

Sy

qefr feehe, Tgfsar ¢l

HIS T, FF G B

o STh, @R &

fas:

I ¥ f@sfrar Ree g

1.9 @5, e 7 &l

A. shdel TSy T T8R0T &l &

B. %hael forsehy 11 31TaT0T & Bl

C. I o forsehy 197 I 378”07 e Bl
D. & @ I 3R & & sy 1T 3ERoT el
g

E. @it forsand 1 3% 11 31e]eRoT T § |
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50.

51.

52.

53.

Directions: Answer the following
questions by selecting the most
appropriate option.

Which one of the following teaching
strategies involvement of students in
teaching the concept of food chain

A. Ask students to copy all examples of
different food chains written on the
black-board

B. Make play-cards of organism and

ask student groups to arrange them to
depict different food chains

C. Ask students to explore possible

food chains operating in different
habitats

D. Ask students to collect related
information from internet
Directions: Answer the
guestions by selecting
appropriate option.

In order to separate a mixture of sand
and salt, which one of the following four
sequences of processes has to be used
A. Evaporation

B. Decantation

C. Sedimentation

D. Sedimentation & evaporation both
Directions: Answer the following
questions by selecting the most
appropriate option.

A Science teacher administered a test
after teaching the topic on ‘Respiration’
and observed that majority of the
students did not understand the
difference between respiration and
breathing. This could be due to the
reason that

A. She was not their class teacher

B. The students could not understand
the question correctly

C. There was usually lot of indiscipline
in her class

D. She could not explain the related
concept effectively in the class

@éer e U # RU a0 Fuad A FF
A= 3R A W R e s fAvest F @
FT a1 ey ARga &7 & @g § 3R
3% TR HUAT 3cck &

following
the most

54,

hYol:
VSK<D=S,D<B<O;A=2D<T
sy

I.LA>B

ILV<T

A. FI T LT &

B. &del 1 6T &

C.¥ae I1 8T &

D. gl HT §

E. AT &8I f&har ST Tehar &

e e e & QU a1v e &t d7
Al 3R AT X 5 Ru av Fvest & @
FT a1 Ty ARTa 9 & g § 3R
3 AR 39T e ¢

3G H

K>=F, Q=K<O;D2>1L;C

v O

O IA
IAN B

— IA
v 2

N I

ICA=aH
I.C<O
II. D<N

A. I T 78T ©

B. %had 19T ¢

C.ar ar I37yar I &g §

D. AT 76l a1 ST Hhl &

E. ar ¥ g

fader (55-56): & =Y T FH AT
¢ 3T &t & 3T &

Aderd P, Q,R, S, T, U and V T& 3ARA
& e dell W wd & (hed TAT FA A
oTel)| e T FEAr 1§ AR 3HF IW F
del $1 H&Ar 2 §, 3 YER ¥ FEd IU
ad & T@Ear 7 g

PR V& @i ar wafFa §| Q uiw dear &
Jol W T g 3R P AwH d&r arel dof W
T § feq V& e 767| R 3R U & 7eg
&hdoel Ueh ehferd {8l | S, R& I & dell
H AET @ B
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55.

56.

57.

58.

59.

T& IW & dell # sl o1 W@ 82

A. T B. ar
C.da D. IR

E. 5981 & &I et

V 3R U & #ieg fohder &leT 38 872
A. =T B. T
C.ar D. e

E. 9]

"LAYOUT" 2reg & 31aRT & 08 frder o2
T T T & oI 3y &Y 378 & (31 3
IS gt feemstt &) foasr 397 & 3Eeir

FUTATST el # 8Id 872

A. dist B. aR
C. T D. ar
E. &

fa&er: (58-62) : Pfaf@d SRy #r
EIAYEH TGU 3R IHFEROT oA arel el
& 3 ST

$C AfFd Th IiFd # 3 & 37T 8§ FT
35 €1 Z F T% 3R 3dd & Iied o Toidel
ZF as 3N E Y, UF a8 3R T I
TYA WX § St didd & fhdl T BR O
Y TYH W JaT g1 T 9iedd & har T ©R
R ST g1 T 3R W & & g safFa 98 g1
X, T3IR W& s i & da1 &1 W3R Z
& fiT o afdd o9 1 Y d9fdd & e o
BR W AL dorl Y IR V& &g 394 &
iFd 35 § Faa W3R Y & &g 88 &1V
THh BR W dadr g AR V3R U & dF 2

T B

Z3IR U S T & Hia der 82
A.Y B.Z

C.U D.V

E. @uiRa =gr foram a1 gehar
9fFa # s afead 3 72
A. 20 B. 21

C. 24 D. 19
E. 17

60.

61.

62.

Y & g8 3R fraa safed 88 g2

A7 B.9

C.6 D.5

E. 8

Direction (61-65): Rearrange the

following six sentences (A), (B), (C),
(D), (E) and (F) in a proper sequence to
form a meaningful paragraph, then
answer the questions that follow.

A) A conscious effort by the Delhi
government to involve SMCs in all
education reforms has gone a long way
in creating a sense of ownership among
parents.

B) An instance was when the
government was inviting schools to
organise summer camps for students of
class VI. SMCs played a pivotal role in
convincing the schools, teachers and
even the students to participate in the
summer camps.

C) Clearly, SMCs in Delhi have come a
long way from being one of the
countless bodies that exist on paper,
but never succeed in realising their
purpose.

D) Ultimately, 45,000 students across
500 schools made attested to the
success of this initiative, the credit of
which should rightly go to the SMCs.

E) The fundamental shift in
transforming SMCs in Delhi government
schools started right from its
organisation, with active campaigns
held for parents' elections to the
committees.

F) Last year's success has prompted
the government to scale the summer
camps which are currently underway in
all its 1024 schools purpose.

Which of the following will be
the Second Last sentence?

A.B B. F

C.E D.D

Eq@

Which of the following will be
the First sentence?

A.C B. D

C.A D. E

E.F
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63.

64.

65.

Which of the following will be
the Last sentence?

A.C B.B
C.D D.E
E.F

Which of the following will be
the Third sentence?

A.C B. E
C.D D.B
E.A

Which of the following will be
the Second sentence?

A.B B. E
C.C D.D
E.A

Direction (66-80): Read the following
passage carefully and answer the
questions given below. Certain words
are given in bold in the passage to help
you locate them while answering some
of the questions.

It is difficult to compare countries
because various factors such as size,
culture, history, geography, natural
endowments, geopolitics and internal
polity come into play. There are some
goals which can be achieved by smaller
countries: but sometimes smaller
countries find it difficult to embark upon
certain big technological plans even if
they have the funds because the size of
the domestic market is too small. If we
consider the bigger countries, the
closest comparison to India is China,
though there are many crucial
differences.

The Chinese vision is to prepare the
country for entry into the ranks of
Moderate-level developed nations by the
end of the twenty-first century.
Acceleration of the nation's economic
growth and social development by
relying on advances in science and
technology is pivotal in this.
Documents describing the Chinese
vision state that science and technology
constitute premier productive forces and
represent a great revolutionary power
that can propel economic and social
development. It is interesting to note
that the main lessons the Chinese have

drawn from their past performance is
their failure to promote science and
technology as strategic tools for
empowerment. They also point to the
absence of mechanisms and motivations
in their economic activity to promote
dependence on science and technology.
Similarly, they hold that their scientific
and technological efforts were not
oriented towards economic growth. As
a consequence, they conclude a large
number of scientific and technological
achievements were not converted into
productive forces as they were too far
removed from China’s immediate
economic and social needs. The Chinese
vision is, therefore, aimed at exploiting
state-of-art science and technology to
enhance the nation's overall power and
strength to improve the people's living
standards, to focus on resolving
problems encountered in large-scale
industrial and agricultural production
and to effectively control and alleviate
pressures brought on by population,
resources and the environment. By the
year 2000, China had aimed at bringing
the main industrial sectors upto the
technological levels achieved by the
developed countries in the 1970s or 80s,
and by 2020 to the level they would
have attained by the early twenty-first
century. The aim is to bridge the overall
gap with the advanced world. There is a
special emphasis on research and
development of high technologies that
would find defence applications. Some of
these technologies are critical for
improving the features of key
conventional weapons. Some
technologies are meant for enhancing
future military capabilities. Other efforts
are aimed at maintaining the
momentum to develop capabilities for
cutting-edge defence technologies. They
call for unremitting efforts in this regard
with the aim of maintaining effective
self-defence and nuclear deterrent
capabilities and to enable parity in
defence, science and technology with
the advanced world.
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66.

67.

68.

69.

Comparison between two countries
becomes difficult because:

(A) The counties differ in their internal
political systems.

(B) Each country has its own culture and
natural resources which differ from
those of others

(C) The countries with homogeneous
backgrounds are many in humber.

A. (A) only

B. (B) only

C. (A) and (B) both

D. All the three (A), (B) and (C)

E. None of the above

Which of the following have been
identified by the Chinese as their
pitfall(s) from their past?

(A) Lack of orientation of Science and
Technology towards economic growth.
(B) Lack of mechanisms in their
economic activities to promote use of
Science and Technology.

(C) Neglect of Science and Technology
as a strategic measure for
empowerment.

A. (A) and (B) both

B. (B) and (C) both

C. (A) and (C) both

D. All the three (A), (B) and (C)

E. None of the above

Which of the following was the most
possible outcome of the scientific and
technological accomplishments of China
which didn't come true?

A. To remain dysfunctional

B. To be transformed into productive
forces

C. To be utilized for motivating social
activities

D. To be promoted through political will
E. None of the above

Which of the following is/are the
expected result(s) of China’s new
visions?

(A) To augment peoples' standard of
living.

(B) To tackle effectively the pressures
brought on by the population.
(C) To focus on problem solving for
industrial and agricultural production.

70.

Zgls:

72.

73.

74.

A. (A) and (B) only

B. (B) and (C) only

C. (A) and (C) only

D. (A) only

E. All (A), (B) and (C)

What according to the passage is the
gap in terms of number or years
between the targeted developments in
China and in other developed countries?
A. 5-10years

B. 20-30 years

C. 40-50 years

D. More than 50 years

E. Less than 5 years

Which of the following catches the
essence of the passage?

A. Enormous population of the country
can be positively utilized for
developments

B. Scientific and technological principles
may not necessarily be instrumental in
economic growth

C. Harmonious development of a
country can take place even in the
absence of technology up-gradation

D. Economic growth needs to be driven
by science and technology

E. Countries should not be compared
with each other

Choose the word which is most nearly
the SAME in meaning as the word given
in bold as used in the passage.

Endowments

A. Powers B. Measures
C. Habitats D. Findings
E. Gifts

Choose the word which is most nearly
the SAME in meaning as the word given
in bold as used In the passage.

Oriented

A. Aligned B. Tempting
C. Deciding D. Leaning
E. Sure

Choose the word which in OPPOSITE in
meaning to the word given in bold as
used in the passage.

Crucial
A. Central B. Trivial
C. Decisive D. Fundamental

E. Imperative
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75.

76.

77.

78.

Choose the word which in OPPOSITE in
meaning to the word given in bold as
used in the passage.

Pivotal

A. Irrelevant
C. Irreparable
E. Irritating
Direction: Read the sentence to find
out whether there is any error in it. The
error, if any, will be in one part of the
sentence. The number corresponding to
that part will be your answer. If the
given sentence is correct as it is, mark
the answer as "No error". Ignore the
errors of punctuation if any.

Apotheosis can mean nothing to them
who hold (1)/ that a man may be reborn
as a god, but (2)/ still needs
redemption, and that men on earth may
(3)/ win redemption, if they are brave
enough. (4)/ No error (5)

B. Unmanageable
D. Inauspicious

A. (1) B. (2)
C. (3) D. (4)
E. (5)

Direction: Read the sentence to find
out whether there is any error in it. The
error, if any, will be in one part of the
sentence. The number corresponding to
that part will be your answer. If the
given sentence is correct as it is, mark
the answer as "No error". Ignore the
errors of punctuation if any.

The January sun continued in its
brilliance and (1)/ the rhythmic gliding
across the crystal snow, though (2)/ not
exhausting, warmed the couple to the
point where even (3)/ their limited outer
cover seemed extreme. (4)/ No error (5)

A. (1) B. (2)
C. (3) D. (4)
E. (5)

Direction: Read the sentence to find
out whether there is any error in it. The
error, if any, will be in one part of the
sentence. The number corresponding to
that part will be your answer. If the
given sentence is correct as it is, mark
the answer as "No error". Ignore the
errors of punctuation if any.

79.

80.

81.

As the bed went passed them, the (1)/
doctor clasped their hands, head bowed
(2)/ down and were seen praying for
(3)/ the baby in a touching, respectful
way. (4)/ No error (5)

A. (1) B. (2)
C. (3) D. (4)
E. (5)

Direction: Read the sentence to find
out whether there is any error in it. The
error, if any, will be in one part of the
sentence. The number corresponding to
that part will be your answer. If the
given sentence is correct as it is, mark
the answer as "No error". Ignore the
errors of punctuation if any.

With the current reading being one (1)/
taken from this morning, Delhi's air
quality (2)/ makes the city one of the
most (3)/ polluted in the world right
now. (4)/ No error (5)

A. (1) B. (2)
G D. (4)
E. (5)

Direction: Read the sentence to find
out whether there is any error in it. The
error, if any, will be in one part of the
sentence. The number corresponding to
that part will be your answer. If the
given sentence is correct as it is, mark
the answer as "No error". Ignore the
errors of punctuation if any.

The Maharani of Cooch Behar, Indira
(1)/ Devi loved shoes so much then she
ordered a (2)/ hundred pairs of shoes to
be made for her by the famed (3)/ (and
expensive) Italian shoemaker Salvatore
Ferragamo. (4)/ No error (5)

A. (1) B. (2)
C. (3) D. (4)
E. (5)

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence alternatives to the bold
part are given at (A), (B), (C) and (D)
which may help improve the sentence.
Choose the correct alternative. In case
the given sentence is correct, your
answer is (E), i.e., "No correction
required".
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82.

83.

Television serial junkies in the United
States have been savouring a period
drama called The Americans -
that could well have been called The
Russians - since the past four years.
A. could well have been called The
Russians - since the past four years.

B. could well had been called The
Russians - for the past four years.

C. could well have been called Russians
- for the past four year.

D. could well have been called The
Russians - for the past four years.

E. No correction required

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence alternatives to the bold
part are given at (A), (B), (C) and (D)
which may help improve the sentence.
Choose the correct alternative. In case
the given sentence is correct, your
answer is (E), i.e., "No correction
required".

The angry bear jumped up against the
sides of the growing tower and left deep
claw marks, which should have been
seen to this day up on the rocks.

A. may be seen to

B. would be seen to

C. would have been seen to

D. would see to

E. No correction required

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence alternatives to the bold
part are given at (A), (B), (C) and (D)
which may help improve the sentence.
Choose the correct alternative. In case
the given sentence is correct, your
answer is (E), i.e., "No correction
required".

The gods tested Hercules’ worthiness to
join them on Mount Olympus by form
of task like dangerous missions that
no mortal could survive.

A. by tasking him with dangerous
missions

B. by giving him task with dangerous
missions

C. by giving him dangerous mission
tasks

D. by missioning him dangerous tasks
E. No correction required

84.

85.

86.

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence alternatives to the bold
part are given at (A), (B), (C) and (D)
which may help improve the sentence.
Choose the correct alternative. In case
the given sentence is correct, your
answer is (E), i.e., "No correction
required".

The indefinite strike was more or less
peaceful, thanks to the heavy military
presence and stringent measure
announced for those who supported
it.

A. measures announced against those
B. measures announced for those

C. measures announced at those

D. measure announced against those

E. no improvement required

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence alternatives to the bold
part are given at (A), (B), (C) and (D)
which may help improve the sentence.
Choose the correct alternative. In case
the given sentence is correct, your
answer is (E), i.e., "No correction

required".
Sleep deprivation adverse
in affects the brain and cognitive

function so working becomes difficult.
A. is adversely affect

B. adversely affects

C. adverse effect

D. adverse in effect

E. no correction required

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence alternatives to the bold
part are given at (A), (B), (C) and (D)
which may help improve the sentence.
Choose the correct alternative. In case
the given sentence is correct, your
answer is (E), i.e., "No correction
required".

The infiltrators positioned themselves in
key locations that gave them a strategic
advantage for the start of the conflict.
A. by the start of

B. during the start of

C. for the start off

D. since the start of

E. No correction required
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87.

88.

Direction: Four statements are given
below as A, B, C and D. There may be
some errors in the given statement(s).
The incorrect statement is your answer.
A. India’s environment minister blamed
the Delhi government and its
neighboring states for failing in their
efforts to check air pollution which was
six times above the recommended limit
on Thursday, posing severe health
risks.

B. Air pollution in Delhi was six times
above the recommend limit on
Thursday after which India’s
environment minister blaming the Delhi
government and its neighboring states
for failing in their efforts to check air
pollution.

C. Delhi’s air pollution reached six
times above the recommended limit
causing the India’s environment
minister to blame the Delhi government
and its neighboring states for failing to
control the air pollution.

D. Blame was put on the Delhi
government and its neighboring states
for failing to check air pollution after it
reached six times above the
recommended level.

E. All are incorrect

Direction: Four statements are given
below as A, B, C and D. There may be
some errors in the given statement(s).
The incorrect statement is your answer.
A. State-run Indian refiner Hindustan
Petroleum said it may resume buying
Iranian oil if New Delhi secures a
waiver from U.S. sanctions, its
chairman M K Surana said on Thursday.
B. Hindustan petroleum’s chairman M K
Surana said on Thursday that a state
run Indian refiner may resume buying
Iranian oil if New Delhi secures a
waiver from U.N. Sanctions.

C. Hindustan petroleum nay resume
buying Iranian oil if New Delhi secures
a waiver from U.S. sanction, said M K
Surana the chairman of the state run
Indian refiner.

89.

90.

D. The chairman of the state run Indian
refiner Hindustan petroleum M K
Surana said that, if New Delhi secures a
waiver from U.S. sanction, it may
resume buying Iranian oil.

E. All are incorrect

Direction: Four statements are given
below as A, B, C and D. There may be
some errors in the given statement(s).
The incorrect statement is your answer.
A. A special investigation team (SIT) is
also probing the alleged murder of
Tiwari, 38, by constable Prashant
Chowdhury, who was accompanied by
another constable Sandeep Kumar,
while Tiwari was going to drop his ex-
colleague Sana Khan home in the wee
hours of Saturday.

B. He has constituted a Special
Investigation Team under IG Lucknow
to probe the case. "A murder case has
been filed against both the constables.
We believe that the cops resorted to
aggression which wasn't required," he
told India Today TV.

C. The UP government has assured the
family of fast track proceedings in the
case but a Special Investigation Team
(SIT) was also constituted to probe
Tiwari's death.

D. Calling it "murder”, Director General
of Police (DGP) O P Singh constituted a
special investigation team (SIT) headed
by IG Lucknow range Sujeet Kumar and
comprising SP Crime and Lucknow SP
(Rural).

E. All are incorrect

Direction: Four statements are given
below as A, B, C and D. There may be
some errors in the given statement(s).
The incorrect statement is your answer.
A. After the struggles of the England
series, Virat Kohli has taken charge of
the Indian team for the upcoming Test
series against England.

B. Before the struggles of the England
series, Virat Kohli will take charge of
the Indian team for the upcoming Test
series against England.
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C. After the struggles of the England
series, Virat Kohli will take charge of
the Indian team for the upcoming Test
series for England.

D. After the struggles of the England
series, Virat Kohli had taken charge of
the Indian team for the upcoming Test
series against England.

E. All are incorrect

Direction (91-100): In the following
passage, there are blanks each of which
has been numbered. These numbers are
printed below the passage and against
each five groups of words have been
suggested, one of which fills the blanks
appropriately.

The 6th Regiment Massachusetts
Volunteer Militia was a (###Q91###)
infantry regiment that was activated
only for civil services in the Union army
for three separate terms during the
American Civil War. The regiment
(###Q92###) notoriety as the first
unit in the Union army to suffer fatal
casualties in action during the Civil War
in the Baltimore Riot and the first militia
unit to arrive in Washington D.C. in
response to President Abraham Lincoln's
initial call for 75,000 troops. Private
Luther C. Ladd of the 6th Massachusetts
is often (###QO93###) to as the first
Union soldier killed in action during the
war.

In the years immediately preceding the
war and during its first enlistment, the
regiment (###Q94###) primarily of
companies from Middlesex County.
During its first term of service, four out
of ten companies of the regiment were
from Lowell, Massachusetts. Colonel
Edward F. Jones commanded the
regiment during its first term. He later
(###QO5# ##) the 26th
Massachusetts and was awarded the
honorary grade of brevet brigadier
general. During its second and third
terms of service, the unit was
commanded by Colonel Albert S.
Follansbee.

91.

92.

93.

The regiment first (###Q96###) for
a "90-day" term of service which lasted
from April 16 to August 2, 1861.
Following their engagement in the
Baltimore Riot, the 6th Massachusetts
(###Q97###) to Washington and
then returned to Baltimore to guard
locations within the city as well as the
Baltimore and Ohio Railroad station at
Elkridge, Maryland. Their second term of
service (###Q98###) nine months
from August 1862 to June 1863. During
this time the 6th Massachusetts was
attached to the VII Corps and
participated in several expeditions and
actions in the vicinity of Suffolk, Virginia,
most notably the Siege of Suffolk and
the Battle of Carrsville in April and May
1863. Private Joseph S.G. Sweatt's
bravery at Carrsville(###Q99###)
him the Medal of Honor. The 6th
Massachusetts served a third term in
response to the call for troops to defend
fortifications around Washington. During
this term, which lasted 100 days from
July to October 1864, the 6th
Massachusetts garrisoned Fort C. F.
Smith was in Arlington, Virginia and
(###Q100## #) Confederate
prisoners of war at Fort Delaware near
the mouth of the Delaware River.
Choose the correct answer from the
given options to fill in the blanks which
are numbered.

A. Wartime B. Peacetime
C. Mammoth D. Truce
E. Exploit

Choose the correct answer from the
given options to fill in the blanks which
are numbered.

A. Polished B. Abducted
C. Gained D. Surrendered
E. Subdued

Choose the correct answer from the
given options to fill in the blanks which
are numbered.

A. Contained B. Sustained
C. Composed D. Pondered
E. Referred
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94.

95.

96.

97.

98.

99.

100.

101.

Choose the correct answer from the
given options to fill in the blanks which
are numbered.

A. Emptied B. Consisted
C. Enlightened D. Punctuated
E. Belittled

Choose the correct answer from the
given options to fill in the blanks which
are numbered.
A. Commanded
C. Enthralled
E. Performed
Choose the correct answer from the
given options to fill in the blanks which
are numbered.
A. Protected
C. Enlisted

E. Engorged
Choose the correct answer from the
given options to fill in the blanks which
are numbered.
A. Proceeded

C. Outnumbered
E. Obliterated
Choose the correct answer from the
given options to fill in the blanks which
are numbered.

B. Persuaded
D. Obliged

B. Promoted
D. Serviced

B. Courted
D. Synchronized

A. Began B. Succeeded
C. Postponed D. Lasted
E. Surprised

Choose the correct answer from the
given options to fill in the blanks which
are numbered.

A. Earned B. Coasted
C. Perplexed D. Mortified
E. Imputed

Choose the correct answer from the
given options to fill in the blanks which
are numbered.

A. Stole B. Guarded
C. Banished D. Entertained
E. Summed

Which of the following will be
the Second Last sentence?

A.B B. F
C.E D.D
E.C

102.

103.

104.

105.

106.

107.

Which of the
the First sentence?

following will be

A.C B. D
C.A D.E
E.F

Which of the
the Last sentence?

following will be

A.C B.B

C.D D. E

E.F

Which of the following will be

the Third sentence?

A.C B. E
C.D D.B
E. A

Which of the following will be
the Second sentence?

A.B B. E
EnC D.D
E. A

Comparison between two countries
becomes difficult because:

(A) The counties differ in their internal
political systems.

(B) Each country has its own culture and
natural resources which differ from
those of others

(C) The countries with homogeneous
backgrounds are many in number.

A. (A) only

B. (B) only

C. (A) and (B) both

D. All the three (A), (B) and (C)

E. None of the above

Which of the following have been
identified by the Chinese as their
pitfall(s) from their past?

(A) Lack of orientation of Science and
Technology towards economic growth.
(B) Lack of mechanisms in their
economic activities to promote use of
Science and Technology.

(C) Neglect of Science and Technology
as a strategic measure for
empowerment.

A. (A) and (B) both

B. (B) and (C) both

C. (A) and (C) both

D. All the three (A), (B) and (C)

E. None of the above
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108.

109.

110.

111.

Which of the following was the most
possible outcome of the scientific and
technological accomplishments of China
which didn't come true?

A. To remain dysfunctional

B. To be transformed into productive
forces

C. To be utilized for motivating social
activities

D. To be promoted through political will
E. None of the above

Which of the following is/are the
expected result(s) of China’s new
visions?

(A) To augment peoples' standard of
living.

(B) To tackle effectively the pressures
brought on by the population.

(C) To focus on problem solving for
industrial and agricultural production.
A. (A) and (B) only

B. (B) and (C) only

C. (A) and (C) only

D. (A) only

E. All (A), (B) and (C)

What according to the passage is the
gap in terms of number or years
between the targeted developments in
China and in other developed countries?
A. 5-10years

B. 20-30 years

C. 40-50 years

D. More than 50 years

E. Less than 5 years

Which of the following catches the
essence of the passage?

A. Enormous population of the country
can be positively utilized for
developments

B. Scientific and technological principles
may not necessarily be instrumental in
economic growth

C. Harmonious development of a
country can take place even in the
absence of technology up-gradation

D. Economic growth needs to be driven
by science and technology

E. Countries should not be compared
with each other

112

113.

114.

BIESE

116.

117.

. Choose the word which is most nearly
the SAME in meaning as the word given
in bold as used in the passage.

Endowments

A. Powers B. Measures
C. Habitats D. Findings
E. Gifts

Choose the word which is most nearly
the SAME in meaning as the word given
in bold as wused In the passage.

Oriented

A. Aligned B. Tempting
C. Deciding D. Leaning
E. Sure

Choose the word which in OPPOSITE in
meaning to the word given in bold as
used in the passage.

Crucial
A. Central B. Trivial
C. Decisive D. Fundamental

E. Imperative

Choose the word which in OPPOSITE in
meaning to the word given in bold as
used in the passage.

Pivotal

A. Irrelevant
C. Irreparable
E. Irritating
Apotheosis can mean nothing to them
who hold (1)/ that a man may be reborn
as a god, but (2)/ still needs
redemption, and that men on earth may
(3)/ win redemption, if they are brave
enough. (4)/ No error (5)

B. Unmanageable
D. Inauspicious

A. (1) B. (2)

C. (3) D. (4)

E. (5)

The January sun continued in its

brilliance and (1)/ the rhythmic gliding
across the crystal snow, though (2)/ not
exhausting, warmed the couple to the
point where even (3)/ their limited outer
cover seemed extreme. (4)/ No error (5)

A. (1) B. (2)
C. (3) D. (4)
E. (5)
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118.

1109.

120.

18250,

122.

As the bed went passed them, the (1)/
doctor clasped their hands, head bowed
(2)/ down and were seen praying for
(3)/ the baby in a touching, respectful
way. (4)/ No error (5)

A. (1) B. (2)
C. (3) D. (4)
E. (5)

With the current reading being one (1)/
taken from this morning, Delhi's air
quality (2)/ makes the city one of the
most (3)/ polluted in the world right
now. (4)/ No error (5)

A. (1) B. (2)
C. (3) D. (4)
E. (5)

The Maharani of Cooch Behar, Indira
(1)/ Devi loved shoes so much then she
ordered a (2)/ hundred pairs of shoes to
be made for her by the famed (3)/ (and
expensive) Italian shoemaker Salvatore
Ferragamo. (4)/ No error (5)

A. (1) B. (2)
C. (3) D. (4)
E. (5)

Television serial junkies in the United
States have been savouring a period
drama called The Americans -
that could well have been called The
Russians - since the past four years.
A. could well have been called The
Russians - since the past four years.

B. could well had been called The
Russians - for the past four years.

C. could well have been called Russians
- for the past four year.

D. could well have been called The
Russians - for the past four years.

E. No correction required

The angry bear jumped up against the
sides of the growing tower and left deep
claw marks, which should have been
seen to this day up on the rocks.

A. may be seen to

B. would be seen to

C. would have been seen to

D. would see to

E. No correction reauired

123.

124,

125.

126.

127.

The gods tested Hercules’ worthiness to
join them on Mount Olympus by form
of task like dangerous missions that
no mortal could survive.

A. by tasking him with dangerous
missions

B. by giving him task with dangerous
missions

C. by giving him dangerous mission
tasks

D. by missioning him dangerous tasks
E. No correction required

The indefinite strike was more or less
peaceful, thanks to the heavy military
presence and stringent measure
announced for those who supported
it.

A. measures announced against those
B. measures announced for those

C. measures announced at those

D. measure announced against those

E. no improvement required

Sleep deprivation adverse in affects
the brain and cognitive function so
working becomes difficult.

A. is adversely affect

B. adversely affects

C. adverse effect

D. adverse in effect

E. no correction required

The infiltrators positioned themselves in
key locations that gave them a strategic
advantage for the start of the conflict.
A. by the start of

B. during the start of

C. for the start off

D. since the start of

E. No correction required

Direction: Four statements are given
below as A, B, C and D. There may be
some errors in the given statement(s).
The incorrect statement is your answer.
A. India’s environment minister blamed
the Delhi government and its
neighboring states for failing in their
efforts to check air pollution which was
six times above the recommended limit
on Thursday, posing severe health
risks.

B. Air pollution in Delhi was six times
above the recommend limit on
Thursday after which India’s
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128.

129.

environment minister blaming the Delhi
government and its neighboring states
for failing in their efforts to check air
pollution.

C. Delhi’s air pollution reached six
times above the recommended limit
causing the India’s environment
minister to blame the Delhi government
and its neighboring states for failing to
control the air pollution.

D. Blame was put on the Delhi
government and its neighboring states
for failing to check air pollution after it
reached six times above the
recommended level.

E. All are incorrect

Direction: Four statements are given
below as A, B, C and D. There may be
some errors in the given statement(s).
The incorrect statement is your answer.
A. State-run Indian refiner Hindustan
Petroleum said it may resume buying
Iranian oil if New Delhi secures a
waiver from U.S. sanctions, its
chairman M K Surana said on Thursday.
B. Hindustan petroleum’s chairman M K
Surana said on Thursday that a state
run Indian refiner may resume buying
Iranian oil if New Delhi secures a
waiver from U.N. Sanctions.

C. Hindustan petroleum nay resume
buying Iranian oil if New Delhi secures
a waiver from U.S. sanction, said M K
Surana the chairman of the state run
Indian refiner.

D. The chairman of the state run Indian
refiner Hindustan petroleum M K
Surana said that, if New Delhi secures a
waiver from U.S. sanction, it may
resume buying Iranian oil.

E. All are incorrect

Direction: Four statements are given
below as A, B, C and D. There may be
some errors in the given statement(s).
The incorrect statement is your answer.
A. A special investigation team (SIT) is
also probing the alleged murder of
Tiwari, 38, by constable Prashant
Chowdhury, who was accompanied by
another constable Sandeep Kumar,
while Tiwari was going to drop his ex-

130.

131.

colleague Sana Khan home in the wee
hours of Saturday.

B. He has constituted a Special
Investigation Team under IG Lucknow
to probe the case. "A murder case has
been filed against both the constables.
We believe that the cops resorted to
aggression which wasn't required," he
told India Today TV.

C. The UP government has assured the
family of fast track proceedings in the
case but a Special Investigation Team
(SIT) was also constituted to probe
Tiwari's death.

D. Calling it *murder”, Director General
of Police (DGP) O P Singh constituted a
special investigation team (SIT) headed
by IG Lucknow range Sujeet Kumar and
comprising SP Crime and Lucknow SP
(Rural).

E. All are incorrect

Direction: Four statements are given
below as A, B, C and D. There may be
some errors in the given statement(s).
The incorrect statement is your answer.
A. After the struggles of the England
series, Virat Kohli has taken charge of
the Indian team for the upcoming Test
series against England.

B. Before the struggles of the England
series, Virat Kohli will take charge of
the Indian team for the upcoming Test
series against England.

C. After the struggles of the England
series, Virat Kohli will take charge of
the Indian team for the upcoming Test
series for England.

D. After the struggles of the England
series, Virat Kohli had taken charge of
the Indian team for the upcoming Test
series against England.

E. All are incorrect

Choose the correct answer from the
given options to fill in the blanks which
are numbered.

A. Wartime B. Peacetime
C. Mammoth D. Truce
E. Exploit
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132.

133.

134.

135.

136.

137.

138.

139.

Choose the correct answer from the
given options to fill in the blanks which
are numbered.

A. Polished B. Abducted
C. Gained D. Surrendered
E. Subdued

Choose the correct answer from the
given options to fill in the blanks which
are numbered.

A. Contained B. Sustained
C. Composed D. Pondered
E. Referred

Choose the correct answer from the
given options to fill in the blanks which
are numbered.

A. Emptied B. Consisted
C. Enlightened D. Punctuated
E. Belittled

Choose the correct answer from the
given options to fill in the blanks which
are numbered.
A. Commanded
C. Enthralled
E. Performed
Choose the correct answer from the
given options to fill in the blanks which
are numbered.

B. Persuaded
D. Obliged

A. Protected B. Promoted
C. Enlisted D. Serviced
E. Engorged

Choose the correct answer from the
given options to fill in the blanks which
are numbered.
A. Proceeded

C. Outnumbered
E. Obliterated
Choose the correct answer from the
given options to fill in the blanks which
are numbered.

B. Courted
D. Synchronized

A. Began B. Succeeded
C. Postponed D. Lasted
E. Surprised

Choose the correct answer from the
given options to fill in the blanks which
are numbered.
A. Earned

C. Perplexed
E. Imputed

B. Coasted
D. Mortified

140.

141.

142.

143.

144,

145.

Choose the correct answer from the
given options to fill in the blanks which
are numbered.

A. Stole B. Guarded
C. Banished D. Entertained
E. Summed

fr # @ g T5T A HaiaR gerdrT
TISTAT T YR T 82

A. gRmom B. TSEUT
C. HET 9 D. IeRId
E. oA ueer

fhforcw ash fohas & & A« ST guTdr g7
A. fasdar 3R gfa aafea 3m

B. & &#I & 3R & IoEq

C. 3f9a ga &1 gfaera 3R &l #r
gfderd a&ar

D. HERFHI &I &¥ 3R SRS &1 &T

E. Harrhifd 1 &3 3R s &

Tgad Use Hr g s g 3k

S

AT (WESP) 2019% 38R, Rd &I

STENdr gefer 2019-208 g% ggae
#Fr 371G §.

A. 7.4 gfaerd B. 7.5 gfaera

C. 7.6 ufaerd D. 7.2 gfaerd

E. 7.3 ufaerd

SIS &l a8 &9 ST, 3rAeqae AT 7 Al
SaRT S foham SiTem & Td A3t eanT
AR T AFT HI T Tl ATIaAT & =T
SHAT & SRUT 8T g, Pl hd 8 d AT
ST &

A. TR SRISTIRY

B. TXTeATcA® SRISTIRT

C. TYOT SRISTITRr

D. TeieTehlel/3cehse SRISTIRY

E. U=Goad SRISTITRT

grATTaE-3Ys  sfad SeevEr, 2011 &
IR A TR & Fel TEAT

& I g
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146.

147.

148.

149.

A. 6.48 I B. 5.65 &S
C. 7.05 &8 D. 17.91 &g
E. 8.69 &g

IYSAT HRA TG TAELT EET0T fAereT
& dgd Ifa IRaR 3if¥eds dAr dax hder

8?

A. 1 d@ 39 B. 3 &g TUY
C. 2 Jg 39 D. 5 &g 39y
E. 4 9@ T9

e aredide Siardr aedfas Siandr &
IR &,

A. SITELTY fStreleX =T & STe Bram

B. SI.a.dr fEwrerex srvafara ghm

C. Sir.3r.dr fawrelex & T Fr HTGeThar
glafr

D. SraLdr fSweley teh & sRI&Y glem

E. S.3r.dr fawrelex U & 31f8eh grom

IR TWHR A TUAHAT BE sSIAT istall
(T TA.Th.A.aE) & & 366 & fau
fEemse fohar &

A. @red HIAd # et 8q

B. WIcT Hed & YeTId &l Hel el ocf

C. Tharel 1 RUT Yl e 8

D. Feu fEeriszor

E. wacl dIAT

R efediehior &1 &2

A. 3¥eaarar A Affea &= & forw
Harehifa oeg

B. 37¥cua¥dr & fas & fow &6 3afer
eq feiRa garedifa & drem

C. g TR 3R IRA3MS & O 9= av
& foT Feehfa 85 qaT W@ g TS
D. A 3R C a=r

E. @efr faeraseiier gaf & forw fava samx
HIroe garT fAuiRa Agredhifa aa

150. ATE faehra Fashich (TASIATS) & besh

151.

524

153.

154.

gl

A. SlTaeT JeamRIT, Iid egidd Hehol B[
3ce AR fefamegara

B. feremeyard, ey 3uerierr 3R ey
ISt

C. Siiael Yemel, 9id afed Hehel B
3cure 3R e 3qafser

D. 9fd egfed Fehel B 3cUTG, MRS
AT AR fammegara
AUl ATH FRISER DISiedl  GoAaTidd
glehY 379 T 81 IS & ?

A. FTAHIT ISR TTlall

B. IUSEIT IqmHIoT Shifaer fAeeT

C. STamgX ATH FHET Arsfelr

D. FOT AT TSR ATl

E. TUHHAT ITH TARISTIR TToTedl

JUIHAT  Sierd A deer  (PMKVY)
fArfaf@d & @ fha Ao g AT 7@ Arete
8?
A. 57 AR AR FIET

B. shierel & 3R 3cafAar Harery

C. AT O aohrd HAFTer T

D. gaT A 3R Wer FHArery

E. #SsI, oY 3R HEIH 3eFH HAeT
2011 1 S0 & AR, HRA A fora
T # FaAlde ITH0T FEET Hara FHdr

g?

A. S8R B. 3 Yo

C. HERTSS D. 9iRgH §9mel
E. RAfFaa

AT fahT grehieh _ @RT GehriI
o e R

A. [@eg s &5

B. faeg &=

C. AHRTSET HaT HIY

D. tfiars faerm d=

E. & sdoudc d&
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155.

156.

157.

158.

ay¥ 2018-19 & Solc H HAAWT F fav Fasir
IR 3mafed #r g §?

A. 45000 13 9

B. 40000 5 T9X

C. 50000 13 T

D. 55000 I3 ¥9A

E. 60000 I3 T

e afg A & ciiur TR
afAuee & R A Feafef@d FuEl w®
AR fifaw:

(i) @ cfeor oir & 22 &1 & 3R
PN TS ¢

(i) ¥RaT & IS 2 F T H$ -
IRIMTATA, Sy IR FIHAR Th &
Ferar # enfAe §.

(iii) | wiRarery HeATs A T 8.
(iv) T 3nf¥e 3R e geam & wehreior
& faera &t Ferar ¢ g

IWFT H F Pl T HUT T 67

A. (i), (ii) 3R (iv)

B. (i), (iii) 3R (iv)

C. (i) 3R (iii)

D. (ii) 3R (iii)

E. (iii) 3R (iv)

g JTauig ATl & Rl TXhR o JAToldr
ISt 3T 1 &t ?

A. I TS ArsTelr

B. =ity gaadiar Arster

C. gradY gaadtr Jreter

D. T JIasiy AT

E. Oradl gaadr arster

TR Reg d & o & s afafaf
N A & AT Fha Hed afvid (GVA) &
TSl Hehel Bl 341G (GDP) T 3YANT hlet
&1 Ao fom §1 @ Hew aftdia (GVA)
_ ¥ afdw afafafar & fufa fr =
aedR gar &l

159.

160.

161.

162.

163.

A. AT T aRYET

B. 3YHIerdr3il T gat

C. 3cUTGent T Y&T

D. 3mqfdt fsmer i R

E. C & D gt
AIfafad # & ffa T o “T18 S92
deior o fohar ar?

A. droH3

B. #ifd 3marer

C. [TaeT va daheiiehl FHITET
D. IreHioT faera JAre T

E. g2dt fa=irel #arer

2011 T SHAMOEAT & IHAAR AFAfA@T A
T R IT dT AERAT &I TEH A g?
A. [SBR B. 3IREs

C. 3nf3am D. ufRge el

E. TSEATA

TSET 3, THSITS & TII-A1T UsoR H
AETT & HAAST H ART H ST 41 89 qad
Siad 8?2

A. f&#TOT 8 B. FaiT &

C. cIAESer 819 D. ¥ar &1

E. 3Wed & ¥ 1§ 8

AATSR-3MTe6 AR Sfad Feremer 2011
(SECC) & 3@R, 10T gRart & & vk
IJRER & T S 3TIR ARIfAS d&
freT qfr v g% &2
A. 6.4%

C. 6.6%
E. 5.1%

Tfaf@a & ¥ 9 gad fae a6g Fr
ST T &

%) IS IS et

T) @ ALl

) RS 3k g

3N 3BT Ty

$) I[oTaar e

B. 4.6%
D. 5.4%
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164.

165.

166.

167.

A. A B3R C B.B, C3RE
C.A,B,D3IRE D.B,C,D3RE

E. 3R & @it

AR # HaERfd & 9@ A96 & &9 &

T & & fora Faepieh 1 3udrer fHam Sirar
g?

A. ¥ Hed Fahih

B. 3UIFAT Hed HIhih

C. 3cUleeh Hod Huhish

D. eI 3cures T Ferehieh

E. 3Tl Hed FAhIh-ATHT
22,0007m#HI0T Y SIERT (GrAMs) 3R 585
T A A FY {AUure 3@ & f&ah
IR gurR & fav fohaem oo 3mafed fohar
ST 87

A. 2000 T ¥4I B. 3000 IS I
C. 1500 35 ¥4 D. 2500 U5 94
E. 1000 15 ¥9

T PAOT ISP IR AfDATH, a9
20058 oI foRam arar (3T, sREm TE&AT 42,
Qa1 H "HelcAT I ISET  ATHIOT
SR IRET JARTH", FRT & & H
AT R 91T), Ush SR A Hlefel 3R
AT gRel U g e wew
B

A. AT &7 ATHR

B. &H el &l AHR

C. & &1 IR

D. |IATISh GR&T erel &l 3ThR

E. 39d&d # & HIS el

3Tk FAToT 2018 & AR HRA & MY
o At # § T AT 3EeH e 87
A. @fast def

B. el ercg3i

C. faega aefierdy

D. FegeX afgd AN

E. 3R &Il

168

169.

170.

171.

172.

173.

. WU HAT sNg AGT HT 3egerar # e
Al T ARHAST @fAfd A &
qReIT & AU i Aol § 2019-20 G 12
dl AT A F R JUTT HIAY AR Foiel
FI%HA (PMEGP) &I I{T @e &I Aol &I
A.4,550 5% B.6,110F3 T
C.5500185 % D. 4,200 5 T
E. 3,500 a5 &

AR Fiaee & fohd 3efeoe # Siias 3R
STaaeTd TadAdT HI TSR’ HT qulel fhar
IRAT B?

A. 3iede 12
C. 3efeoe 22
E. 3ieoq 14
2018 & 92r fohu 1T 3nfde TfeTor FT FAR-
T H T R W AR &4 &
faw gl

A. &1, By

B. e, badhd {4 3fegard

C. &1, gAfaR9eTar

D. s, A3 & e oo R
E. 81, HATE! T 38 3uier
IRTSET oA TSl (ILO) Fr Rue &
3ER, 2019 # HRA # SASERT T Fer
___ gl

B. 3if=de 21
D. 3Tz 20

A. 18.9 fAafora B. 18.5 fafeaa
C. 15.9 Ao D. 17.3 fAfoa
E. 19.3 fAfoasr

¥ @deor, 2018 F AR, HRAT
SIS 3 HY &1 afderd fhder 82

A. 11 gfaera B. 25 gfaera
C. 16 gfaea D. 49 yfaera
E. 37 ufaerd

ISTATH & TSEAT H Reserve Tranche
Position & ¥7 # URfA$ &7 & fhd=T @rer
mafed fonar Sirem 82 HoT B el & faw
AT TIAT 47 872
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174.

175.

176.

177.

A. 25%, 3 Grel B. 50%, 2 "ol
C. 33%, 5 g1 D. 20%, 7 @Il
E. 10%, 1 a¥

Sedy  URdde W HgFd  ASE hAdh
Feaeel 1994 § & 3aT H o]
g3

A. ATEH THG & 36T T FA IS dTel
&1 T &

B. faed Sferaryg Yeoi & gatel & fav wh
HARSET RS TLAT STl

C. Siefarg uRddsl & Hefed Hegal
HASA & foIU U GEAT & IS el

D. arg#Hse # et §13H IF TehraraT
R &

E. IR-37uTelel hreel e Scafsld il arel
&2l 9 =R wfaser orere

SR Reg o (RBI) o foew @fafa &r
RAGIReT X AR & 9@ 33U & §9 A
AT 3YHNFAT Hed Hahieh (CPI) (FIFd)
39ATAT AT?

A. TgUHA st FfAfT

B. fs#ar Smemer wfafa

C. 3R el |fAT

D. 3f5id 3R, yeo AfAf

E. va.%. Regr g

3Mfds qdefor 2018 & AR, R H Hel

=TT 1 MY 1% BHAT &1 EIGEGE
gl

A. 57 B. 45

C. 38 D. 42

E. 51

AT & 3T deEal Hr s
Tufy & gou & S 1 aReaa sar §:

178.

179.

180.

T T § I 7 Gu v g ded 7
T F vafad A & A 3ma E

A. FqUT I B. amefoT e

C. Joeilcas s D. aRfEufas= il
E. 9ot el

IRT TR 3R g d o Fg 159 &
aic IR g FaEt fr gear & v
420 TR ARG ser AT aRIST |

geaer feu g7
A. 3T 9o B. JSIEATT
C. 3% cer D. #AGRISC
E. gfRas sarrer

H glEr A HiEplaw
AT & AT & Sfiaed & 3ol
HATARIOT & 3HIHT & & H GRATA fohar
T g

A. 3fd& dediTor

B. arifEafas spseleor

C. TSTeilideh dRdTenor

D. THATSIRIEHAT 3HSARIT

E. HiEhics $HSENHIOT

i |deTor 2018 & AR, THTH3T /
STEINSHT S HHATGIS GR&T Waue &
el H Teh gaiRedan, "aaiRear &
aRenia fRar ar=r o, toaRe & & Wi
! IR Il T ST 31% I I
aqrl F§ GST oic & fgear g & deor &
"JroaRear & g fRar =r ar, ar
$H g & gl &F & W I FH

Orar 91T AT
A. 53% B. 42%
C. 35% D. 51%

E. 47%
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